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Paper First
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Time : Three Hours ] [ Maximum Marks : 70

[ Minimum Pass Marks : 28
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Instructions for Candidate :

Section—A : Question Nos. 01 to 08 are very short answer
type questions. Attempt all questions. Each
question carries C! mark. Answer each of
these questions in 1 or 2 words/1 sentence.

Section—B : Question Nos. 09 to 14 are very short answer
type questions. Attempt any four questions.
Each question carries 23 marks. Answer each
of these questions in about 75 words.

Section—C : Question Nos. 15 to 18 are short answer type
questions. Attempt any three questions. Each
question carries 05 marks. Answer each of
these questions in about 150 words.

Section—D : Question Nos. 19 to 22 are half long answer
type questions. Attempt any fwo questions.
Each question carries 10 marks. Answer each
of these questiong in about 300 words.

Section—E : Question Nos. 23 and 24 are long answer type
questions. Attempt any one question. Each
question carries 17 marks. Answer each of
these questions in about 700 words.

A-39

[7] H-2215
2. SRS 721 PN S e v ARt 3 T
Explain the objectives and policies of IMF.
gs—%
(Section—E)

23. Rerel gm1 yRwRe gqoee ara Riema @)
SIS SR BT |

Discuss critically the comparative cost theory as given
by Ricardo.

24. NG B GO Ir-Fata A @ ovge R
gy |

Discuss in brief the main features of the present
import-export policy of India.
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RIS HaT By |
International Monetary Fund (IMF).
grg—H

(Section—C)
RIS AR ¥l &7 FefRor Ty |

Explain the determination of International Terms of
Trade. :

W DT THFIB T |

Factor price equalisation theorem.

JqHeT Yged 1 a7 gR1 e |
Diagrammatic representation of optimum tariff.
ARG @ ARG TN 79 AR Hifr |
Trade problems and trade policies of India.
gre—q
(Section—D)

ITISEH AR WA dwER-aigfen Rigra @t
AT TRIET B |

Examine critically the Heckscher-Ohlin theory of
International trade.

‘TYeb DI IEAQ] T’ ARV BT ZARAT BT |
Explain the concept of ‘effective rate of tariff. :
o <o & gfiga Jram Hged | AT R T
g7

What do you understand by unfavourable balance of
payment of a country ?
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Gre—3y 4
(Section—A)
T fifvew oife difaleea R we dqwm”
e gEid e fordt & ?

Who has written the book titled “The Principles of
Political Economy and Taxation” ?

‘IS ANR, SRER AR @ & @ e
<91 R |7 T8 BT W B AT Tofa ? 445U
“International trade is the specific condition of inter-
regional trade.” Is this statement right or wrong ?
Explain it.

Tgch | AT 7 8 ?

() TR W T T I S A

(i) ARl & ager ™ & @

What is meant by Tariff ?

(i) Import duty levied on goods

(i) Tax extracted from foreigners

RIS a1 B B e by af § gah?

() o 1944

(i) a¥ 1954 §

(i) 9% 1945 ¥

In which year “International Monetary Fund” was
established ?

(i) Inthe year 1944
(i) In the year 1954
(iii) In the year 1945
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o R T B B s P R

R WA # % Rl @ ?

@ fer iR

(i) el fafvam

(i) ffra waT

At present which rate of foreign exchange is used
under . M.F.? '

() Fixed Rate of Foreign Exchange

(ii) Flexible Foreign Exchange Rate

(iii) Parity Rate of Foreign Exchange

IR 5 39 & w1 IR SR Frifd & 79
2, @ 99 39 @ WNR-uged @i Rufd Far g ?

() ITHE FAIR-HGer

(ii) WS IR-HGe

(iii) Wqferd @MmR

If the import-value of a country is more as compared

to its export value. What will be the state of balance of
trade of that country ?

(i) Favourable Balance of Trade
(ii) Unfavourable Balance of Trade
(iii) Balanced Trade

e ¥ 5T YR B <A B AR I B 8 7
(@) ol <l

Gy Rerda <

Gii) afafiefa <
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Which type of nations gain from protection ?
(i) Developed Nations
(ii) Developing Nations
(iii) Most Developed Nations
fiwa §& waw < B 5 YR ST H0T @@ ?
() YTl T
(i) TEAFBIGNT F0l
(iii) SrePTelE HO
What type of loan is granted World Bank to member
countries ?
(i) Short-term loan
(ii) Medium term loan
(iii) Long-term loan

gre—4

(Section—B)

FOUE AR Y AT T T © 2
What do you mean by International Trade ?
ded] Ud T 3FGY & 41 3R aargy |
Distinguish between Tariff and Quota.
WG B U ¥ T@ YRga diorg |
Give arguments in favour of protection.
et g @t fafewt )
Methods of foreign payments.

PRI a1 TR |

European money market.
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Yrg—q

(Section—B)
“TUG T FHIT” 1§ ?
What is “Trickle Down Effect” ?
“HrdTE T @R ?
What is “Public Goods™ ?
‘e | Y T T E ?
What do you mean by ‘Procurement’ ?

“@AIT " | AT TAT A E ?

What do you understand by “Regional Imbalance™ ?

qhd MR B I T8 ?
What is Gross Terms of Trade ?
01 aRE R E ?
What is Merit Goods ?
gre—1
(Section—C)
Al vaada G @& S @ Y ?

What were the objectives of Ninth Five Year Plan ?

Ardoia faavor gumell ¥ g @41 gHed § ?

What do you mean by Public Distribution Systems ?

RIS Al ot feivan? qansy |

Explain the characteristics of Multinational

Corporations.

%

H-2216

M. A. (Final)

Term End Examination, June-July, 2017

Time : Three Hours ]

Jefere
Paper Second
(e sefagen &1 fiem)

[ Maximum Marks : 70
[ Minimum Pass Marks : 28

whamdf &g frde -

gue—3

Gre—q

gvs—

A-40

: U¥ IS 01 W 08 TF A Y ST U

¥ uE & TR R TR 9 foR
01 3i® fullRa 2| % w & S 1 @
2 oIl /1 15 ¥ Qg

: U B 09 W 14 TP A 7Y S U £

foel aR vl & Sw SRR e uEm @
fog 2lsie feiRa &1 vde 1@ @1 W
T 75 TRl § QR |

(YT PHIG 15 W 18 TP oY ST YH

fost I vl @ o AR W@ v @
o 05 sip fFEiRa &1 e g9 &1 s=w®
T 150 Treal # SIS |

P.T.O.



[21 H-2216

w—z:wmwﬂnaﬁaz‘ﬁéwﬁumﬁl
Mﬁqﬁ%ﬁﬁmlmm?ﬁm
10 37 Peifa &1 F TE B IR AT
300 Tt ¥ AR |

w—s:mmzaqén?ﬁéaﬁmm%t%ﬁ
wuﬁmwaﬁmmwa%m
17 o PR §1 e WF F SW AT
700 Tl # SRR

Instructions for Candidate :

Section—A : Question Nos. 01 to 08 are very short answer
type questions. Attempt all questions. Each
question carries 01 mark. Answer each of
these questions in 1 or 2 words/1 sentence.

Section—B : Question Nos. 09 to 14 are very short answer
type questions. Attempt any four questions.
Each question carries 21 marks. Answer each

of these questions in about 75 words.

Section—C : Question Nos. 15 to 18 are short answer type
questions. ‘Attempt any three qubstions. Each
question carries 05 marks. Answer each of
these questions in about 150 words.

Section-D : Question Nos. 19 to 22 are half long answer
type questions. Attempt any fwo questions.
Each question carries 10 marks. Answer each
of these questions in about 300 words.

Section—E : Question Nos. 23 and 24 are long answer type
questions. Attempt any one question. Each
question carries 17 marks. Answer each of
these questions in about 700 words.

A-40
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(3] H-2216
ge—3 N
(Section—A)
et daatr A aafty @ o ?

What was the period of Eighth Five Year Plan ?
airera foh-geare 3 (ACOR) @1 3 9y

Write the formula of Average Capital-Output Ratio
(ACOR).

gﬁﬂﬁiﬁfa‘»mﬁﬁa?

Who was the founder of Green Revolution ?

oft ot Wl A whe B e FEw e
<a” 1 o (e a g Al ?

What was the year of estaslishment of “Task Force on
Agrarian Relations.”

1951—55a?i31a1ﬁﬁaﬂ'a‘rﬁrﬁﬁmﬂﬁMa?m
o ?

What was the average rate of Industrial growth in
1951-55 period ?

g @R B T @ g A

Write the formula of Income Terms of Trade.
I & 7

What is Devaluation ?

ﬁﬂﬂmmﬁwﬁmaﬁmﬁﬁ?

What was the year of implementation of Special
Drawing Rights ?

P.T.O.
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18. WeUd Ud W X ¥ R 9ai3y|
Differentiate between Direct Tax and Indirect Tax.
- Gve—3
(Section—D)

19. Toll-S0R 3UA & U T WEN § ? 390 e
YaRl B W AR

What do you mean by Capital-Output Ratio ? Discuss
its different types.

20. “gRa wifd” ® & fudh Rikay |

Write a note on “Green Revolution.”

21. a9 @ eNfie fAem & a9t A

Discuss the Industrial Development before
Independence.

22. YAH Ggad | Y 7 FHI § 7
What do you mean by Balance of Payments ?
gre—3
(Section—E)

23, fefear @ 3w @ 9w € ? fefsar @ orwr qen
B B D SUF | Tt DI |

What do you mean by Poverty ? Discuss the causes of
poverty and solution of reduction of poverty.

24, “MRa ¥ wdeG @ B YRR W @ feuelr
forRag |

Write a note on “Trends of Public Expenditure in
India.”
H-2216 1,030
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How the problem of unemployment in under-
developed countries is different from developed
capitalist countries ?

el 2w @ oo Rem & W SwuE o
raaTie G@ 3 fod yeR uRads T & ?

How does the occupational structure of a country
change with its economic development ?

aRT ¥ AEEd @1 Y WK PEiRd a @
aEadal 9@l 8 7

Why is it needed to determine the minimum level of
wages in India ?

F=IR® Td 918l 59 Sl H ) gy |

Differentiate between internal and external labour

welfare.

WRA § 91l S B W HRY B W T 7

What are the major causes of child labour in India ?
fy=fafed & Ry #ifog

(&) =g Ao

(q) e

Define the following :

(a) Minimum wages

(b) Bonus

A
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Instructions for Candidate :
Section—A : Question Nos. 01 to 08 are very short answer

type questions. Attempt all questions. Each
question carries 01 mark. Answer each of
these questions in 1 or 2 words/1 sentence.

Section—B : Question Nos. 09 to 14 are very short answer

type questions. Attempt any four questions.
Each question carries 2% marks. Answer each
of these questions in about 75 words.

Section—C : Question Nos. 15 to 18 are short answer type

questions. Attempt any three questions. Each
question carries 05 marks. Answer each of
these questions in about 150 words.

Section—D : Question Nos. 19 to 22 are half long answer

type questions. Attempt any fwo questions.
Each question carries 10 marks. Answer each
of these questions in about 300 words.

Section—E : Question Nos. 23 and 24 are long answer type

A-40

questions. Attempt any one question. Each
question carries 17 marks. Answer each of
these questions in about 700 words.
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Yrg—3
(Section—A)
S BT SeTSHar W 3T T T [HIAA & 7

What do you understand by the productivity of
labour ?

fodY g3 SRIF 7 @ 3k & ?

What is the meaning of diguised unemployment ?

aferan &1 T A § ?

What is the meaning of automation ?

3mTa-fta faf 9 3o @ W € ?

What do you understand by input-output method ?
Sfera oG & amya Fm R § 7
What do you mean by Fair Wage ?
‘o e’ B gRMYT BT |
Define ‘Trade Union’.
AT Re & 3y T W § 2
What do you understand by Social Security ?
Arfed Hiearll &1 T 37 § ?
What is the meaning of Collective Bargaining ?
HYrg—q
(Section—B)
FERBR 2ui § R 2 R ReR e
<9l 9 59 yaR A 8l & 2

k)

P-T-0.



[6] | H-2217

21, 99 WE @ W@ AN @l T St |

Discuss the main merits and demerits of Trade Union.

20, WG g @ OF JE YeR @ R W
I |

Discuss in detail, the three main types of social
security.

Gre—3
(Section—E)
23 T sRRif @ srid wergy FeiRe @ 6
T Hifog |

Describe with diagrams the determination of wages
under perfect competition.

24 WRA ¥ Afzen sl @ Rufy ® o faeg fafay |

Write an essay on the condition of women labour in
India. '
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ge—a @,
(Section—C)
s B fadwary qamsq |
State the characteristics of labour.
wR ¥ R B T RO PR § ?

What are the major causes of unemployment in India ?

R el & o T w9 § ? G APl @ YR
qai=y |

What do you understand by agricultural labour ? State
the types of agricultural labour.

wrfore & @ 8 ? sael v Ry adrsy |

What is Social Insurance ? State its main
characteristics.

Grg—g

(Section—D)
S B SUARSGA B TN A qd TE qCh
PTDA A E ? '

What are the major factors which determine the
productivity of labour ?

YRd ¥ AR SH FRA drell ol wag |
EGIELS

Explain in brief, the employment generation
programmes in India.

20,
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Yreg—q

(Section—B)
39el /80 sreieTen @ We qaTey |
Explain the importance of Regional Economics.
HAMRAPR TN |
Explain Oligopoly.
T @ Rigra &1 qeaied Ao |
Evaluate the Hirschman’s theory.

HT-HT faeeisor qagy |
Explain the Input-Output Analysis.

wfie 9 fgdae sies & wig amy)

Explain the sources of primary and secondary data.

TR fidr § e W @ o iRy

Write an essay on planning in Urban development.

Yrg—q
(Section—C)

e Aied 7 S9! FArEAT qagy |

Describe the theory of Losch Model and its criticism.

g9 @ Rigra &) Wy

Explain Hirschman’s theory.

MY fdom ® 1F e fifay |

Write an essay on Agriculture Development.

ARG | & Rer Al ® 1 o iy |

Write an essay on Regional Development policies in

India.
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Instructions for Candidate :
Section—A : Question Nos. 01 to 08 are very short answer

type questions. Attempt all questions. Each
question carries 01 mark. Answer each of
these questions in 1 or 2 words/1 sentence.

Section—B : Question Nos. 09 to 14 are very short answer

type questions. Attempt any four questions.
Each question carries 2% marks. Answer each
of these questions in about 75 words.

Section—C : Question Nos. 15 to 18 are short answer type

questions. Attempt any three questions. Each
question carries 05 marks. Answer each of
these questions in about 150 words.

Section—D : Question Nos. 19 to 22 are half long answer

type questions. Attempt any [wo questions.
Each question carries 10 marks. Answer each
of these questions in about 300 words.

Section—E : Question Nos. 23 and 24 are long answer type

A-39

questions. Attempt any one question. Each
question carries 17 marks. Answer each of
these questions in about 700 words.

A-39

[31 H-2218
que—3 .
(Section—A)
et wRrfir & AT a B e b El g7

Slope of Demand Curve in Monopolistic competition
is in which direction ?

87 @ YOR P-4 € 7
Which are the types of Region ?
g 1 et 3R qE - R & 7

Hirschman theory of polarisation and which one is
other theory ?

s frfe fgeor @ St 1§ ?
What is Objective of Input-Output Analysis ?
frora & Tt @ R @ Rl P R ?

Which are the methodology of making indicators of
Development ?

A & f G & TR T E?

How many areas have been developed for Agriculture
in India?

7S @1 SR e fo R R § 7
On which system Hirschman’s Infrastructure is based ?

a3 Friror wfea 79 79 88 7

When did the planning process started in India ?

i PR
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gre—q
(Section—D)
19. BT ga B ITURI B THEAY |
Explain the concept of Growth Pole.

20, AT # AmTa-farfa dieet &1 TN Sy |

Explain the use of Input-Output model in planning.

21, 9RA @ W WGiid GaRHl | (G a9 fafag |

Write an essay on Main Natural Resources in India.

22, ARA A FoE @ S aedl & RuRe & g
ERIEN

Describe the principles of determination of output
target for planning in India. =

que—3
(Section—E)
23, an%ﬁaﬂﬂﬁﬁﬁﬂaﬁmaﬁisﬂqﬁ?ﬁmﬁ
qay |

Explain Investment criteria in Economic Development
and its limitations.

24, @ Ao # ana-frfa doile @ TR & 9o
Uq dmd qarsy |
Explain the importance and limitations of use of Input-
Output technique in Development planning.
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